BORILLA oPORTS

MANUAL FOR PRESS BENCH

(10000118)




SHUORILLA oPORTS

~  PROFESSIONAL GYM EQUIPMENT FOR EVERYONE

D
112 cm

Maximum load: 200 kg




“’“Mllﬂlllll SI’IIHTS

t: (M10) asher: (#8)
\ J
10x
— Bolt: (M10%75)
— Bolt: (M10*67 ) Bolt: (M8*50)
L - X

@ Inside PAN-HEAN Bolt: (¢10%65)
4x




H Inside PAN-HEAN Bolt (¢10%65)-2PCS

1
B 11T \\
— | - Bolt (M10%67)~4PCS
?mam 52/152 0 _ 0 A v
mo:..as*ma — _ ° "/
“ M Washer (#10) -8PCS Nut (M10) —4PCS
_ |




|

Washer (#10) —-8PCS

— Bolt (M10%67)—-4PCS

Nut (M10) —4PCS

l




] Bolt (M10%75)—~1PCS

©

Washer (#10) -4PCS

Bolt(M10*65 IPCS

Nut (M10) -2PCS

O

@side PAN-HEAN Bolt (#10%65)~1PCS




M8*65 ®8

SOdE—(89) ToySej

SOdT- (0G*8I) +10d

i

SAdE- (G9+8IN) 1 109




SOdg—(01@) Ioysep

SOdZ—(L9*0TI) 1 10d




Inside PAN-HEAN Bolt (¢10%65)-1PCS

~~

JE—

//

" PULLO

UT

I

Q
- [\
- hs)
(69x019) :210d
z<m,mwz§ oprsuf \
- ,. U
(o) @0

e\

'E////—.
L




